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40,000,000& * 3CH 120,000
HE=EwWE Jl8t =4 887,300 1,664,480 ANTT77,180
201 LBt Y| 42,900 36,680 6,220
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3,000,000& = 12€ 36,000
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OXAANAHAZEZA AXE Z2HIEI =2
1,200,000& * 1JHLSE A 1,200
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8,500,000& = 18JH 2 153,000
OL:E HASZE WA
8,500,000 = 1402 119,000
OUEZRNEHEHIANEEZE KNS 82,000
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500,000& = 100JH 2~ 50,000
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OHAAZA =™ AXHl 500,000& * 30002 15,000
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O28s AMUHA 2EXDX SAE44|
30,000,000 = 14! 30,000
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= 30,200
< 9,060
Al 21,140
402 RIZEX201 A 60,400 0 60,400
= 30,200
< 9,060
Al 21,140
02 QI2t X2 AL EZ (01X THE) 60,400 0 60,400
OAZE g xtz0lg BNEX = XA (A
L - ARl - DEHA) 60,400
= 30,200
< 9,060
Al 21,140
thaswes =& e 10,819,923 10,227,858 592,065
< 1,102,890
Al 9,717,033
AMUHA 2 o 10,441,923 9,849,858 592,065
< 913,890
Al 9,528,033
101 @124 dl 20,795 11,550 9,245
04 JI2ZHHZ2XEES 20,795 11,550 9,245
OANZERSIUH(AUHA) 8323 TAHA
I 24 8l 20,795
-ad= 1,400,000& * 1 * 12043 16,800
S PNESS= 6,600 * 4AI2t = 7Y 188
- ZE S| 513,000& = 23| 1,026
-tE=g 60,0003 = 1H » 123 720
-4AHEE = 18,734,000& * 11% 2,061
201 LBt 28,928 31,508 A 2,580
01 AL 22l 7,700 10,480 A2,780
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OssaelAlAE S X E 2| 17,028
-ANAE RANEL 29
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-AH SXE% 26,400,000 * 7% 1,848
03 A2 Y| 4,200 4,000 200
OAUWHHA TENHEA DR XS 4,200
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300,000& = 2A12F = 23] 1,200
-=E852 MH& 3,000,000 = 14 3,000
202 o4l 3,200 2,800 400
01 2Ll 3,200 2,800 400
OHARYE FTRIER2F=X Y| 3,200
207 & I & d 69,000 44,000 25,000
01 A& | 69,000 44,000 25,000
OAMUHA SH SHZA L 2SI ME 2
S H| 44,000
OAMUHAS2LYH d3Y YL NHUHAZEDI 5
ot 29 25,000
307 QI2t0| ™ 10,320,000 9,760,000 560,000
= 913,890
Al 9,406,110
09 LLAHEXS 10,320,000 9,760,000 560,000
O2£g9H 2x2 10,320,000
—AMUHA HEXNY & HdEE8A 7,500,000
= 690,000
Al 6,810,000
—ANUHHA R8s 22820
160,000,0008 ~ 12& 1,920,000
o= 96,000
Al 1,824,000
—BABSHO AR
75,000,000 = 12&€ 900,000
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Al 772,110
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701 JIEtSI HSEES 36,233,902 32,001,230 4,232,672
01 JIEteI HE == 36,233,902 32,001,230 4,232,672
OEANMEE SE3H &8&3 36,233,902
M DsEES Z& 1,589,411 1,225,888 363,523
WEAMSHA KA 1,133,811 542,918 590,893
DENS A WL A 1,133,811 542,918 590,893
201 L4l 32,911 30,418 2,493
02 =224l 32,911 30,418 2,493
OusIl AJletd HIIFEZ 32,911
- X0l 51,0403 » 51000 & 26,031
-MESEF 8,600& » 8000H & 6,880
206 24 46,000 55,000 9,000
01 MHZ 8l 46,000 55,000 A9,000
Otlss MEHl 46,000
-2dS 200,000& = 504 10,000
-IEs 400,000& = 604 24,000
— ZHO Al ZEE AL DI 300,000& = 404 12,000
207 A O] 254,400 0 254,400
01 289 254,400 0 254,400
OnSHSHA HEEA 254,400
401 AIEBIZL 2 0H L] 800,500 457,500 343,000
01 A& HI 799,000 456,000 343,000
OunsdsIe4d 40,000,000& * 404 2 160,000
OunsdzIl #XE+  95000,000& * 242 190,000
O=nsSdSAIE WH 119,000
-—LSEF0A 30,000,000 = 200 A 60,000
-~ LSHZ WA 25,000,000& * 204 50,000
—LSEFEM 1,500,000 = 690 A& 9,000
OITS 2= AL (VNS) 330,000




2N
X ZH -
L= B

el

Sy

Egma=an/;
lsEEo E&
SHUSHA KA

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
03 Al&E 201 Y| 1,500 1,500 0
OuUuSESASI| L ITSEEAY AIE204| 1,500
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201 LBt | 1,200 870 330
01 AP 22| d| 1,200 870 330
OQUEAEE =48 ZAlY| 1,200
202 044l 2,400 2,100 300
01 2L Y| 2,400 2,100 300
ONEAE HdR2F=&X (Yl 2,400
401 AlEHIZL 2 0HY| 452,000 680,000 A 228,000
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13,000,000 * 500 £ 65,000
- MIOIe {0 WH
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13,000,000& = 1000 £ 130,000
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201 Bt 19,260 15,960 3,300
01 AP 22| H| 19,260 15,960 3,300
OAMNEREES FLH| 250,000 ~ 12€ 3,000
OdMARE | 250,0008 ~ 12& 3,000
O=AEX 2| 250,000 ~ 12€ 3,000
OJIEtE=2H| 4,500
OZFE, HZWE HAUM 28 S|
8,0008 » 169 = 40 5,120
OEEA XN HIY HME 40,000 * 16YH 640
202 04| 43,200 38,220 4,980
01 2Ll 43,200 38,220 4,980
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240,000& = 159 * 12& 43,200
203 R F & 3,600 4,200 A 600
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